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Lesson 1.7
Name

sllbtruct Whole Numbers COMMON CORE STANDARD CC.4.NBT.4

Use place value understanding and properties of
operations to perform multi-digit arithmetic.

Estimate. Then find the difference.

1. Estimate: 600,000 Think: 780,573 rounds to 800,000.
7 1015 613 229,615 rounds to 200,000.

780,575 S timate is 800,000 — 200,000 = 600,000
_229,615 O an estimate IS s 5 = s .
550,958
2. Estimate: 3. Estimate: 4. Estimate:
428,731 920,026 253,495
— 175,842 — 535,722 — 485,617

Subtract. Add to check.
5. 735,249 — 575,388 6. 512,724 — 96,473 7. 600,000 — 145,782

.l

Problem Solving JZIS L

Use the table for 8 and 9.

8. How many more people attended the

Magic’s games than attended the Pacers’ Season Attendance for Three NBA Teams
games?
Team Attendance
Indiana Pacers 582,295
9. How many fewer people attended the

Pacers’ games than attended the Clippers’ Orlando Magic 715,901
games? ]

Los Angeles Clippers 670,063
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